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Outcome 2 - Difference of 2 Squares

Bronze examples... Silver examples Gold examples

Examples... Examples... Examples.. 1 1té‘tnrnr‘nunFuC‘rur
irstl

1. Twobrackets 3. Squareroot 1. Twobrackets 3. Squareroot 2. Then diff of 2 squares|
both ferms both terms

2. *anda' 2. +anda' 3x2 — 48
. ; ) _ 2
9a2 — 16b% = (3a +4b)(3a— 4h) =3(x"—16)

¢ —d?*=(c+d)(c—d) =3(x+4)(x—-4)

25x% — 36y?
X —16 = (x +4)(x —4) = (5x +6Y)(5x —6) 2y? =50

_ 2 _ -

49x2 — 64y? =2(y"-25)
= (7x +8y)(7x —8Y) =2(y+5)(y=5)
. | [

y?—64 =(y+8)(y—8)

Bronze Questions ap Silver Questions 1
Factorise the followingexpressions... ai, Factorise the following expressions... _é,
L r?-s? & m-n? L 4x2-252 2 64p?—9q?

- X*-36 & F-49 o 121a? —16b2 & 16s% —9¢?

a8 zP-4 % w?-100 5 4992 -100h? & 36k% — 25n2
& a@-9 8 p*-144 Z 9r?-169y2 8B q%—900w?
8 b*-25 8 r?-10000 8 40022 —y?  1Q 4i? - 625)2

Gold Questions

& 4

Factorise the following expressions..
pi Zp2 — 128 & S5w? — 245

7m? — 28 & 2c2-162

& 3z2-363 & 2w?-—-200
Z 2a*-288 8 11p2-176
& 2p2-1800 LQ 7r2-—252
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Bronze Answers

1. r+s)(r-s) 2.
3. (x+6)(x—06) 4.
5, (z+4)(z—4)
7. (a+3)(a-3) 8.
9. (b+5)(b-5)

Silver Answers

1. (2x + 5y)(2x — 5y)
3. (11a + 4b)(11a — 4b)
5. (7g + 10h)(7g — 10h)
7. (3r + 13y)(3r — 13y)
9. (20z + y)(20z — y)

Gold Answers

2(p+8)(p-8)
7m+2)(m=2)
3(z+11)(z—-11)
2(a +12)(a — 12)
2(b+ 30)(b—30)

O NO W
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(m+ n)(m —n)
(c+7)(e—-7)

6. (w+ 10)(w—10)

(p+12)(p — 12)
10. (r + 100)(r — 100)

2. (8p + 3q)(8p — 3q)
4, (45 + 3t)(4s — 3t)
6. (6k + Sn)(6k — 5n)
8. (g + 30w)(qg — 30w)
10. (2i + 25j)(2i — 25j)

2. 5(w+7Nw-7)
4. 2(c+9N(c—-9)
6. 2(w+ 10)(w — 10)
8. 11(p+4)(p—4)
10. 7(r+ 6)(r — 6)
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